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q ArithmeKit 2 Partition and recombine to add
Find the matching pairs: Fill in the wissing number:
34+:27= 40+50+6+5 24427
rerm | [Coses /A
27-3¢6= 30:20+4+7 20:20+4+7 I:I
50-30-8-3 Use partitioning and recombining for these:
38 +57= 40+50+6+8 34 +37=
48+57= 20:50-7+4 44+ 47=
24 +37 = 30+50+8+7 24+57= U heEn
notice?
37+ 54 4+47= .
EFE 20:30:7+6
7.5 = 20-50-7-¢ 44437 =
What's missing? 24 -7 =
Create gour own matthing pairs problem 344572 What do you
notice?

using partitioning and recombining to add. 24+ 47





